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Solution proposed by Roberto Tauraso, Dipartimento di Matematica, Università di Roma “Tor
Vergata”, via della Ricerca Scientifica, 00133 Roma, Italy.
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Moreover, by letting ω = eiπ/3 we have
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It is known that polylogarithms satisfy the following identity
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where Bn is the Bernoulli polynomial of degree n ≥ 1. For n = 3 and x = 1/6, it becomes
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(b) If |z| = 1 and z 6= 1 then
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which is equivalent to the required equality. �


